ABSTRACT STATEMENT OF ELECTION EXPENSES

		PART - I
1	Name of the Candidate	Sh.Ism. 14m. Kabindra Purkayastha
11	Number and name of Constituency	HP-2, Silchar
III	Name of State/Union Territory	Assam '
IV	Nature of Election (Please mendion whether General Election to State Assembly / Lok Sabha /Bye- election)	LOK Sabha
٧	Date of declaration of result	16-05-2014
VI	Name and Address of the Election Agent	Sri Anil Chandra Dey Ashram Road, SilMar-4
VII	If candidate is set up by a political party, Please mention the name of the political r arty	B. J. P.
VIII	Whether the party is a recognised political party	Yes /140

Date: 14/6/2014
Place: Silchar

Signature of the Candidate
Name Sri Kabindra Purkayosh

ABSTRACT OF STATEMENT OF ELECTION EXPENDITURE OF CANDIDATE

PART-II:

7/-		11		100	
S. No.	Particulus	Amt. Incurred/ Auth.by Candidate/ Election agent (in Rs.)	Amt. Incurred/ Authorized by Pol Party (in Rs.)	Amt. Incurred/ authorized by others (in Rs.)	Total Election Expenditure (3)+(4) + (5)
1	2	3	4	5	6
1	Expenses in public meeting, rally, procession etc.;- 1. a : Expenses in public meeting, rally, procession etc. (ie: other than the ones with Star Campaigners of the Political party (Enclose as per Schedule-1)	6943114	,-	- 1	6,74,311=00
	Expenditure in public meeting rally, procession etc. with the Star Campaigner(s) (ie: other than those for general party propaganda) (Enclose as per Schedule-2)	£,54,34/	7	-	647 11-3
11	Campaign materials other than those used in the public meeting, rally, procession etc. mentioned in S.No. I above (Enclose as per Schedule-3)	559,808		-	556808-00
111	Campaign, through print and electronic media including cable network, bulk SMS or internet and Social media (Enclose as per Schedule-4)	35,000	-	-	35000.00
IV ·	Expenditure on campaign vehicle(s), used by candidate(Enclose as per schedule-5)	805100+	-	.1-	8,05100:00
V	Expenses of campaign workers / agents (Enclose as per Schedule –6)	10,12,917			10,12,818.00
VI	Any other campaign expenditure	4,90,664	y	-	1480664-00
	Grand Total	35,34,700	-	-	35,34,700:0

1 is

ABSTRACT OF SOURCE OF FUNDS RAISED BY CANDIDATE PART III

S No	Particulars	Amount (in Rs.)
1	2	3
ı	Amount of own fund used for the election campaign (Enclose as per Schedule - 7)	10,53,600.00
11	Lump sum amount received from the party (ies) in cash or cheque etc. (Enclose as per Schedule -8)	-
III	Lump sum amount received from any person/ company/ firm/ associations / body of persons etc. as loan, gift or donation etc. (Enclose as per Schedule -9)	25,00,000=00
V 2		
7		
,		**
-	Total	35,53,000.00

Schedules- 1 to 9: Details of Elections Funds and Expenditure of Candidate

Schedule- 1

		ther than tho	Source of Expenditure					
S. No	Nature of Expenditure	Total Amount in Rs.	Amt. incurred / Auth. by Candidate / agent	Amt. incurred / by Pol. Party with name	Amt. incurred by others			
1	2	3	- 4	5 .	6			
1	Vehicles for transporting visitors							
2	Erecting Stage, Pandal & Furniture, Fixtures, poles etc.	238513	238513+					
3	Arches & Barricades etc.							
4	Flowers/ garlands				-			
5	Hiring Loud speakers, Microphone, amplifiers, comparers etc.	288252	288252					
6	Posters, hand bills pamphlets, Banners, Cut- outs, hoardings	106054	1,06,054}					
7	Beverages like tea, Water, cold drink, juice etc.	614921	614924					
8	Digital TV -boards display, Projector display, tickers boards, 3D display							
9	Expenses on celebrities, payment to musicians, other artists remuneration etc.							
10	Illumination items like serial lights, boards etc.	3						
11	Expenses on transport, Helicopter/ aircraft / wehicles/ boats etc. charges (for self, celebrity or any other campaigner other than Star Campaigner)				*			
12	Power consumption/ generator charges		*:					
13	Rent for venue							
14	Guards & security charges	-			Date - Street			
15	Boarding & lodging expenses of self, celebrity, party functionary or any other campaigner including Star Campaigner			,				
16	Others expenses	-						
	Total	corent	6,94,311\$					

Die.

Expenditure in public meeting rally, procession etc. with the Star Campaigner(s) as apportioned to candidate (ie: other than those for general party propagands)

S. No	Date and Venue	Name of the Star Campaigner(s) & Name of Party	Amount of Expenditure on public meeting rally, procession etc. with the Star Campaigner(s) apportioned to the candidate (As other than for general party propaganda) in Rs.	Remarks, if any
1	2	3	4	5
1				
2	2			
3			- /	
4	0			
5			/	
6				
7				
8			10	
9		1		
10				, -
	Total			

Details of expenditure on campaign materials, like handbills, pamphlets, posters, hoardings, banners, cut-outs, gates & arches, video and audio cassettes, CDs/ DVDs, Loud speakers, amplifiers, digital TV/ board display, 3 D display etc. for candidate's election campaign (ie: other than those covered in Schedule- 1 & 2)

			Sour	ce of Expend	iture	
S. No	Nature of Expenses	Total Amount in Rs.	Amt. By Candidate/ agent	Amt. By Pol. Party	Amt. by others	Remarks If any
1	2	3	4	5	6	7
1	Pamphlets/Leaftels	66800	66800			
2	Hoardings	2095064	2095001			
3	Bamners	850004	· 85000f			
4	Loud Speakers .	195508/	1955081	-		
5		, E	4			
6		×				
7						*
8	,			*1		
9	* - E				0	
10		e 5		8		, -
	Total	556 8081	5568084			

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or internet or social media etc. for candidate

					Source	of Expe	nditure
S. No	Nature of medium (electronic / print) and duration	Name and address of media provider (print / electronic /sms / voice/ cable TV, social media etc.)	Name and address of agency, reporter, stringer, company or any person to whom charges / commission etc. paid/payable, if any	Total Amount in Rs. Col. (3)+(4)	Amt. By candidate/ agent	Amt. By Pol. Party	Amt. By others
1	2	3	4	5	6	7	8
1	Nons Paper	Dainik Samoyik	P. PolaHackarja	18008	18008/		
2	-30-	Jain'x Janakenha	anakerilla -30- 10000)		10000}		
3	- 20 -	Dainik Abichar	-30-	70007	7000}		
4				7 -			
5			51				
6		i i			13-1		
7			L.T				This
8					*4		
9							
10						,	
	Total			35,00st-	35000/		

N so

Details of expenditure on campaign vehicle (s) and poll expenditure on vehicle(s) for candidate's election campaign

		Hirin	g Charges of ve	hicle			Source	of Exper	nditure
S. No	Regn.No. of Vehicle & Type of Vehicle	Rate for Hiring of Vehicle/ maintenance	Fuel charges (If not covered under hiring)	Driver's charges (If not covered under hiring)	No. of Days for which used	Total Amount incurred/ auth. in Rs.	Amt. By Candidate/ Agent	Amt. By Pol. Party	Amt. By others
1	2	3a	3b	3c	4	5	6	7	8
1	AS-MB 533	64401	-	-	1600	7,040	7040	-	-
2	45-11BE 3009	440/		-	16	7040	.7040	-	-
3	AS-44 1437 Bole 20	2000/-			16	32,000	32,000		-
4	M2 01957 Amboused			- 6	16	19,200	13,200	-	-
5	11-11 Ge 5423 Boleso	20001-		-	16	32,000	3200		-
6	AS-01AR 5747 Beleno	2000-		-	16	32000	32 000		-
7	AS-11A 4929 VAN	9001-		1.3	16	14,400/-	14,4001-	-	-
8	AS-HE 5384 TATAINDIN	12001		- "	16	19,2001-	19,2001-	-	-
9	AS-116e 5496 Bolevo	2000/-		1	16	32,000+	32,001-	, -	-1
	Total				1 0	1,94,880	- 4		

Dir

	2_	30	36	36	4	5	6	7	8
0	MX 05- 8579 /MNOVA	2000/	-	_	5	10,000=00	(0,000 = 00	2	-
li	9533	2000/-	_	-	9	18,000-00	18 000 = 00	-	-
12	AS-1120 9919 Tebo	pa 2000/	-	-	6	12,000000	12,000.00	-	-
3.	AS-1/P PHY	1200/		-	.10	12,000=00	12,000=00	-	-
4	AS-11 Q VAN	900 H	-	5	7	6,300-10	6,30000	_	-
5.	4009 (Scy	2000f		-	6	12,000 = 0	12,000 = 0	-	-
16	AS-11 € 7087 (Bile	renof	-	-	3	6,000 = 00	6,000 = 0	-	-
17	AS-1/AC 8449(Su	1200L	-	-	9	10,800 = 0	10,800=4	-	
18.	M2-02A 22-8, Belon	2004	-	-	5	10,000=0	10,000=00	-	-
19.	AS-11AC 3586600	1200	_	-	7	8,400=10	8,400 = 00	-	-
20.	95-11 AC 5482 CORU	1200	_	1	3	3,600=0	3,600 = 0	1	_
21	AS-110 1667 SUMO	1200	-	-	4	4,800=0	4 800 = 00	-	-
22.	AS-11E 509	9001	-	-	7	6,30020	€ 300 = 00	_	-
23	Asoife 3409 (Sun	/	_	-	6,	7,200 = 4		-	-
84.	ML05H268 SVm0		-	-	10	12 000-m	12,000. 40	-	-
25.	AS-11E 83 C	900/	_	-	12	10,800 = 00	10,800=00	-	-
26	AS-HE 2993	9101-	_	-	. 8	7,200= 00	7,200=0	-	-
27	95-11€ 8748	12001	-	-	7	8,400=0	8,400=00	-	-
38	A-5-114 0018	1200}	-	-	5	6,00000	6,000 = 0	-	_
29	AS-11 AC 6286 Guin	y 1200L	-	-	7	8,400=00	8,400=0	-	
30.	1203 1203 crusier	12.00f	-	1	2	2 400=0	2,400=0	~	_
31	M205 4817	900H	-	-	9.	8100=0	8,700+00		-
32	HS-11F	12001	-	-	7	8,400000	8, 400=00	-	-
33	AS-IIE	1200	-	-	6	7,200=00	7,200=0	-	-
34	AS-74 C	12004		-	5	6,00020	6,000 %		-
	1939 Gran	9001	-	_	7	6,300= 0	6,300=0	7	-
36	MLOSE.	1200 F		- 1	4	4,800 = 10	4,800 - 00	_	-
37	MOVEN	1201	-	-	. 7	8,400=00	8,40000	-	-
38		12001	-		7	8,40020	8 400 = m	~	^
39	Det code	noof	-	-	2	2,400=0	9,400= 0	-	-
4	O AS-IIE	1200	-	-	10	12,000-0	12,000 = 00	-	-
-	5587 SANTEN					N.	A. William Free	contd	-31

	10 2				e-3	of Sche	dule 5.		
	AS-11@ 40	30	136	30	4	5	6	7	18
	' INDIGO	12001	-	-	- 7	8,400=	0 8,4000		-
4	Couscier	Petty	-	-	4	4,8000	« 4,800- «	-	
4	3 AS-1188411 Tata Lx.	12001	-	-	3	3,600=	0 3,600 a	-	_
44	Somo	12001	-	-	6	7,2000	0 7,200 = a	-	-
45	CAK	12001	-	-	- 2	2,400=	2,400= 40	-	-
46	couster	1200/	-	-	10	12,000.0	0 12,000 - 00	-	-
47	couster	12001	-	-	6	7,200=	7,200 = au	-	-
48	SCORPIO	20007	-	-	4	8,0000	@ 8,000 = W	-	-
49	AU70	140	-	-	2	880=		-	_
150	sumo	12001-	-	-	3	3, 600 = a	3,600 = W	-	_
51	Bolero	2.0001-	-	-	3	6,000=	6,000=00	_	-
53	SUMO	1200	= ==	-	4	4,80000	4,800= 0	-	-
53	Carrespea	12001-	-	-	10	12,000-4	12,000.00	-	_
54	P-070	170	-	-	10	4,590=0	0 4 590 = W		-
55	VAN	100	-	-	10	9,00000	800000	-	- 97
56	Coussies		-	-	12	14,400=0	14,400=0	-	-
37	8Um0	1200	-	-	15	18,000=0	18,020=0	-	-
58	AS-118C4944 SUMO	1201-	-	177	16	19,200=0	"	~	-
59	MS=418 3668	12001-	-	-	13	15,600=00	15,600 =00	-	-
60	MS-11 AC3499 SUMO	12001-	-	-	/3	15,600 =00	15,600 = 00	-	-
61	BOLE 20	2000L	-	-	84	@8,080 = 00	\$8000 = 00	-	-
62	AS-INF 1208 BULETO	2000/	-	-	14	38000-10		-	- 1
63	AS-11AC 6961	12001	-	-	14	16,800=0		-	-
64.		1200/-	-	-	12	14,400=00	14,400.00	-	-
65	45-11AC/843	12001	-	-	14	16,800=40	16,800=0	-	
66.	AS-24-1188	9001-	-	-	15	10,350-4	19,350=0	-	-
67	AS-11BC 0334 AUTO	440		-7	10	4,400=0	4,4000-0	-	~
68-	AZ-1147083	20001-	-	-1	F 2	32,000 = 00.	4,000 = 00	-	-
69	00 111 7711	revot	- [-	15	30,00000	30,000 2m	- T	_
6	76 TSA		ı	,		- 7	N.	c	mtd-4.

Page-4 of Schedule-5.

1									
NO	2	30	36	34	4	.5	6	7	8
70	AS-1187144 VAN	9001-	-	-	3	2,700	2,7001-	-	-
71	AS-110 7312 Bolero	2000/-	-	-	习	14,020=0	14,000 = 00	-	-
72	AS-116 3604	20001-	-	-	2	4,00000	4000 200	-	- :
73.	AS-014A 3699 Bolero	2001-	_	-	2	4,000 20	4080 = ₩	-	-
74	MS-UF 8677 Boleno	2001-	-	-	4	8,00000	8,00020	-	-
75	AS-11AC 4050 AUTO	440+	-	-	5	2,200=0	2,200 = 0	-	_
76	AS-24-1488 NAN	9001-	-	-	6	5,400=60	5, 400 =40	_	-
77.	AS-1170 1325 EON	noo1-	-	-	2	2,401	2400.00	-	-
78	AS-11H 0731 Boleso	2001	-	-	1	2000=4	2000.00	-	_
79	AS-118 7475 VAN	9001	-	-	1	90000	900=00	-	-
2						8,05,700 000	8,05,700=00		
- 1		-					1		

N. co

Details of expenditure on Campaign workers / agents

		Expenses on car	npaign	workers	So	urces of Exp	enditure	1
S. No	Date & * Venue	Nature of Expenses	Qty.	No. of Workers/ agent	Total amt. incurred/ auth. In Rs.	Amt. By Candidate/ Agent	Amt. By Pol. Party	/unt By others
1	2	3a	3b	3c ·	6	7 -	8	9
1		Campaign Workers honorarium/ Salary etc.				1		
2		Boarding						
3		Lodging				-	******	-
4	27/3/14 Link Road, Sonai Road Udharband Kalquin	Others	12	a F	65225 +	652257		
5	Kaligora Duck politele 28/3/14		100		, investigation	21457		
6	Siloteshi Mokeypur Nersus per Back St. L.	7 1 = 1 1						
7	Mersing per Pragle Welai Sailper Ber Khela Jellpelil Moderner Saickelera Sviktyra	- 30-	14	10	68701/	68701		
8	29/3/14 Callage Road Malique Polly Ranger Klan					5		
9	Kanakpur Beterkandi Gansapur Sabashpur	- 21-	16		65400	654004		
10	CHARKY Shape Berjaleaga Elenpus Nayas Fancaragas Plancaragas	,	,					
	Total			h, i	1993264	10-01/	, ,	

D.Cs

Details of expenditure on Campaign workers / agents

		Expenses on can	npaign v	vorkers	So	urces of Exp	enditure)
S. No	Date & Venue	Nature of Expenses	Qty.	No. of Workers/ agent	Total amt. incurred/ auth. In Rs.	Amt. By Candidate/ Agent	Amt. By Pol. Party	/unit By others
1	2	3a	36	30	6	7	8	9
1		Campaign Workers honorarium/ Salary etc.						
2	Sol	Boarding	8	,				
3		Lodging						2
4	30/3/14 Faleylal Kashijour Manda, Jails	Others	Na.					2
5	Aur Kennasa daspar Hennas	- 20-	18	A PATE	70105/	901051		
6	Rallipus Naikabash Glafogranda Grisslot Bortlat TE datas TE Jhalb TE							
7	31/3/14			11.				
8	Dud py Joningram Pollast South	(4)						
9	Hanikpur Julanospar	- Do -	14		56 2257	56225}		
10	Sograpus Rakkai Kalo Per		-	i				
	Total			r	126330/	101015	, -	

etails of expenditure on Campaign workers / agents

	T	Expenses on car	npaign	workers	Sources of Expenditure				
S. No	Date & Venue	Nature of Expenses	Qty.	No. of Workers/ agent	Total amt. incurred/ auth. in Rs.	Amt.	Amt. By Pol. Party	/unt By others	
1	2	3a	36	3c	6	7	8	9	
1		Campaign Workers honorarium/ Salary etc.						5	
2		Boarding							
3		Lodging							
4	Mainayband Smile, Jossaps Utlayband	Others	19	NX F				-	
5	Payappy Bayas TE, Masas Sran Chard Shall Masas, Madhas Dimmorahal		15		463101	44310}	*		
6	Damurghal Salganga Kumbhironam Kambhir Burcans gov								
7	Borklote Charchandle per Deplayer Javailton			77					
3	Bababazar Lorerbottov Dolugram Hattal	07/695	12		40100\$	401004			
	Halfoloma Leburbard Dudk palil								
10		• 41							
	Total		1	14	86410}	941.12	, .		

N. C.

Details of expenditure on Campaign workers / agents

		Expenses on can	npaign v	vorkers	Sources of Expenditure				
S. No	Date & * Venue	Nature of Expenses	Qty.	No. of Workers/ agent	Total amt. incurred/ auth. In Rs.	Amt. By Candidate/ Agent	Amt. By Pol. Party	/unt By others	
1	2	3a	36	3r	6	7	8	9	
1		Campaign Workers honorarium/ Salary etc.							
2		Boarding							
3		Lodging		100				-	
4	2/4/14 Belara Horas bashi, Kalain Digabay, Bunkay	Others		a y i					
5	Falalacas Balessas	/	10		50775/	507757			
6	Sadirkhelerpe Madhabpur ete:								
7	Moteurbagar Pariblera Dialai Saptagram	- 30 -	11	# 1	48 900/	489001			
3	Maria Hass Bhasa Biddardaying Fillans ran								
9	Palmahadadas Rakni TE Palmahat ete.								
10			,						
	Total				99675	99/75/	, .		

Details of expenditure on Campaign workers / agents

	T	Expenses on can	npaign v	workers	Sor	urces of Exp	enditure	1
S. No	Date & * Venue	Nature of Expenses	Qty.	No. of Workers/ agent	Total amt. incurred/ auth. In Rs.	Amt. By Candidate/ Agent	Amt. By Pol. Party	/unit By others
1	2	3a	3b	3c	6	7 ·	8	9
1	1	Campaign Workers honorarium/ Salary etc.						
2		Boarding						
3		Lodging						
4	5/4/14 Plang dalpahi darmi Nonyoy Klal	Olliers				1	#	
5	Honganagar Bhuban hiy		10		507754	50775/		
6	Blankhust 6/2/12							
7	NHIS Road Silder Parchage Road Day (dory cherykoln	. 30	10	1 pt.	68700}	68800}		
3	Singan Kothal Morea Blacatous				70000	501007		Total Control
9	Dablibash Dadwood/ ele.					While		
10								
	Total				119475	119/75/	, ,	

1

Details of expenditure on Campaign workers / agents

		Expenses on can	npaign v	workers	So	arces of Exp	enditure	,
S. No	Date & * Venue	Nature of Expenses	Qty.	No. of Workers/ agent	Total amt. incurred/ auth. In Rs.	Amt. By Candidate/ Agent	Amt. By Pol. Party	/Amt By others
1	2	3a	36	3c	6	7 .	8	9
1		Campaign Workers honorarium/ Salary etc.				4 10/2		
2		Boarding						
3		Lodging						
4	Honiala Honiala	Others		i				
5	Harapun Kantasan Shibari Pad Roj gash Tupkhara	- Do-	12		709001	709001		
6	Vivelanavda Raad Callege Pool	,						
7	Tikk stash			W To				-
8	Link Road 1 Rink Road 2 Melenow Panelskin	-30-	10		102500/	1025004		
9	Panelokani Kandi Kood Point 303- Calony, Japan Read, Bilpo					Comple		
10	Bereaga Madharband etc.		,					
	Total			F	173400	173400	, .	1

Details of expenditure on Campaign workers / agents

_		Expenses on can	ipaign i	workers	Sou	irces of Expi	enditure)
S. No	Date & *Venue	Nature of Expenses	Qly.	No. of Workers/ agent	Total amt. incurred/ auth. In Rs.	Amt. By Candidate/ Agent	Anit. By Pol. Party	/unt By others
1.	2	3a	3ს	30	6	7 -	8	9
1		Campaign Workers honorarium/ Salary etc.						
2		Boarding						
3		Lodging						-
4	Medial Prim	Others .			STEE			
5	Sabashpur Shugan Bhraklai	7	11		1075001	1075004		
6	Silcori Clatla Dargakona Chatlabash	1						
7	Silcoori lange Dharamklai Se			W.				
8	Silclar Voute Rally, Jeasape							
9	Saden Bagan Sonai	1 -va (2)	10		1007017	100701		
10	Kabugany Kabugany Navyor bon Volka shan il			7.8				
	Total			E,	1012817	10/28/74	, .	

A.c.

Schedule-7

Details of Amount of own fund used for the election campaign

S. No.	Date	Cash	DD/ Cheque no. etc. with details of drawee bank	Total Amount in Rs.	Remarks
1	2	3	4	5	6
1	21/3/14	Ceah	And he was	28,000:00	
2	24/3/14	-20-	neg Lines a	25,000:00	
3	29/9/14	-'Do-	clo: 949541 dt. 2013/14	2,00,000+00	
4	02/4/14	-20 -	- 20 -	5,00,000:00	
5	05/4/14	-20-	- 30 -	3,00,000.00	To the
6			. 4 4 1		
7	n		The second		
8					
9	H		,		*
10				*4	
11				- 190	
12				,	
1	Гotal			10,53,000.00	



Details of Lump sum amount received from the party (les) in cash or cheque or DD or by Account Transfer

S. No.	Name of the Political Party	Date	Cash	DD/ Cheque no. etc. with details of drawee bank	Total Amount in Rs.	Remark If any
1	2	. 3	4	5	6	7
1				Hant I		
2						
3	×	1		/		
4				1/		
5					N N	
6			211			
7		/		1		- Will
8	/					A"
9			. ,			
10			ie ·			
11						
12				1	, · -	
	Total					

Details of Lump sum amount received from any person/company/firm/associations/body of persons etc. as loan, gift or donation etc.

S. No.	Name and address	Date	Cash	DD/ Cheque no etc. with details of drawee bank	Mention whether loan, gift or donation etc.	Total Amount in Rs.	Remarks
1	2	3	.4	5	6	7	8
1	Sunday Papties	7/4/14	Caal	Marin	Donation	3,00,0004	
2	- 30 -	10/4/14	Carl		- 20 -	6,00,000f	
3	-20-	11/4/14	Caal		-Do-	8,00,000f	
4	-30-	11/4/14	Cash	-	- Do-	¥,00,000f	
5	- Do - Bank ent.	16/4/14	Caal Transfer		-Do -	1,00,000 \$	
	Total					25,00501	

Note:

- 1. In Schedule 5:-
 - (a) copy of the order containing list of all vehicles for which permit issued by the Returning Officer to be enclosed.

(b) If the vehicle is owned by the candidate/his relative/agent are used for election purpose, notional cost of hire of all such vehicles, except one vehicle if owned and used by the candidate, notional cost of fuel and drivers salary for such vehicle, shall be included in total amount of expenditure in the above table.

- In all schedules if any expenditure on goods and services, provided by the Political Party; or provided by any person/ company/ firm /associations/ body of persons etc. on behalf of the candidate, then the notional market value of such goods or services are to be indicated, in respective columns.
- In Part—III, the Lump-sum amount of fund received from the political party or others or the candidate's own funds, should be mentioned date wise. In all such cases such amounts are required to be first deposited in the bank account of the candidate, opened for election expenses.
- Each page of the Abstract Statement should be signed by the candidate.

D ..



राज्य असम ASSAM

10AA 208252





PART-IV FORM OF AFFIDAVIT

Before the District Election Officer, Cachar, Silchar (District, State/ Union Territory)

Affidavit of Shri Kabindra Purkayastha, S/o Late Kalipada Purkayastha.

- I, Sri Kabindra Purkayastha, S/o Late Kalipada Purkayastha, aged 82 years, Resident of Nutan Patty, Silchar-2, P.O. & P.S.-Silchar, Dist.-Cachar, Assam, do hereby solemnly and sincerely state and declare as under:-
- That, I was a contesting candidate at the general election/ to the House
 of the People of Silchar Loksobha (2) from Silchar Loksobha Parliamentary
 Constituency, the result of which was declared on 16-05-2014.

Contd...P/2

- (2) That, I/my election agent kept a separate and correct account of all expenditure incurred/authorized by me/my election agent in connection with the above election between 26-03-2014 to 16-05-2014 (the date of which I was nominated) and the date of declaration of the result thereof, both days inclusive.
- (3) That, the said account was maintained in the Register furnished by the Returning Officer for the purpose and the said Register itself is annexed hereto with the supporting vouchers/bills mentioned in the said account.
- (4) That, the account of my election expenditure as annexed hereto includes all items of election expenditure incurred or authorized by me or by my election agent, the political party which sponsored me, other associations /body of persons and other individuals supporting me, in connection with the election, and nothing has been concealed or withheld/suppressed therefrom (other than the expense on travel of leaders' covered by Explantations 1 and 2 under section 77 (1) of the Representation of the People Act, 1951).
- (5) That the Abstract Statements of Election Expenses annexed as Annexure-II to the said account also includes all expenditure incurred or authorized by me, my election agent, the political party which sponsored me, other associations/body of persons and other individuals supporting me, in connection with the election.
- (6) That the statements in the foregoing paragraphs (1) to (5) are true to the best of my knowledge and belief that nothing is false and nothing material has been concealed. This affidavit is sworn on this the 17th day of May, 2014 at Silchar.

Identified by me

Achey Silchar

Deponent

Notary Public of Silehar